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Note:  First 15 minutes arc allotted for the candidates to read the question

paper.
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Instructions : .
i) There are in‘all nine questions in this question paper,
il  All questions are compulsory.
iiij In the beginning of each question, the number of parts to be
attempted are clearly mentioned.
iv) Marks allotted to the questions ar¢ indicated against them.
v) Start solving from the first question and proceed. to solve till the

last one.

vi) Do not waste your time over a question which you cannot solve.

14000/ 1447 [ Turn over

Download all NOTES and PAPERS at StudentSuvidha'.com


http://studentsuvidha.com/
http://studentsuvidha.com/

324(FD)

| Prefufea wh @@ F & A ;
T Fraed GFH AT IW e R

#)

)

)

TF @& R=[(a,b):a=b-2,b26] Gg=A N § ufonf@ @ @ @
JaC EM

) (24)eR i) (38)eR
i) (6,8)eR iv) (87)€R 1
®ed coi~! [ ~—L &l 0+
o ()

. T .e E
1) 5 ii) 3
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1. Do all the parts of the following :

Write the correct alternative of each part in your answer-book :

a) A relation R=|(a,b):a=b-2b26] is defined on the set N, then
the correct answer will be
i) (24)eR. i) (3,8)eR
ii) (6,8)eR iv)  (8,7)eR 1
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b) The principal value of the function cm_l(— —!—J will be

3
" n
i) = ii ud
2 ) 3
L ; 2n
11) 4 1v) 3 ]
c) The value of the determinant _g _‘;’I will be
i) 16 ii) 18
i) 15 iv) 13 1
d) The differential coefficient of the function sin(x?+5) w.r.t
x will be
i) 2xcos[x2+5} i1) 2xsin(x%+5)
iii) cos(x2+5) iv)]  none of these 1
e) If matrix A= [‘;?:2 'cség :] and A+ A’ =1, then the value of
a will be
. T . b4
1) 3 Q® i1) 3
N 3
i) = N iv) - =% 1
& 2
Preaffias o e 1 g1 e
2. :
N
m — 2 - = 2 - - 'EF[ - iy"
).Wx:mswzrmsﬁmznmuwmm
Hifor) | 1
W) %A sinmx F x % ANY JAHAA hifo) 1

M Aulel a I b FdwH B 0 AU [a.b|=|axb| R A

0 1 A4 F1a Hitag| 1
d’y d%y) . dy
u)  AEhd G — 4 P —2 | + ==+ y =0 H HIR 3@ Hify 1
dx dx?) dx
2 x3
) Ixe dx &1 99 74 Hifsm) _ 1
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2. Do all the parts of the following :

2 -
a)  Find the valuc of % of the curve x=t>+3t—8, y=2t -2t -3 at
|

the point  (2,-1).
b) Diffcrentiate the function sinmx with respect to x. 1

. - s - 2 >
c)  The angle between two vectors @ and b is 0 and |a . b[=|axb]
is given. Find the value.of 9. !
d) IF‘ind the order of the differential equation
3
d’y  ofd%y). . dy -
—_— —_— =
dx® JC[dxg faxte=0. | 1
e Find the value of ‘[.11:2«5'-"‘3 dx. 1
3. fimfafed asft @vel +t ga Fifn .
®) g gHiHto ylogydx-—xdy=0'ﬂﬁ33ﬁ&f§| | 2
1 -2 3
q) HﬁA:[_4 }3#{3 [g ﬂ?ﬁABHﬁnBAmﬁﬁml 2
M) g AR e f(x) = x2, x= 0 T Haa 2 2
) W y-x +t.m@ Y it 2
3. Do all the parts o @followmg |
a) Solve the rential equation ylogydx—-xdy=0. 2
1 -2'3 23
b) IfA=[_4 2 5] and B=|4 5| then find ABand BA. 2
2 1
c) Prove that the function f(x)=x? is continuous at x+ 0. -2
d Ify=x’+tanx menﬁndgz—y '
’ dx2 * 2
4. Fafalga et Gvet #i ga i .
sin x .
Q) 3R AT B wad vl &, vl p[A].:_l%, P{BJ___ " _ﬂ_
. 0 LN
P(AuUB)¥ P(An B) T Hifm 5
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M) W TS e A AR R e st @ =304 )+ 4k A

-+ .’:. -"': A
b=i-j+k Bl 2
u) U WRERHQ 9 §) af 7 @ f6 7= § @ v @ w0 v a=n a2 2,
A g F T5H B 3 wRwm I B 2
Do all the parts of the following :
X sin x '
a) Solve 'I—_sin(x +a,dx. 2
b) If A and B are independent events, where P{A]:%, P(B]—_-l%
then find P(Auv B) and P(ANnB). 2
C) Find the arca of a parallclogram whose adjacent sides arc
= A A A -+ A A A
a=3i+j+4k and b=1i-j+k. 2
d) There are two children in a family. If it is known that at least one
child is boy in two of them, then find the probabxht}r that both the
children are boy. - , 2
frafafga ad @i «) &= ﬁﬁm : |
%) fag Hif i quiel % sg=m 2 R =((a,b):(a-b) 5% TN 2 } TR
NEH @Y U goddl aery 2l 5
52 I3 6
g) afe aregg X+Y =[3 9] T IR X—-Y-[O _1] @ X3k y
TSR A S
M) AR y = (cotde) M Xex g % I i) 5
9) Ut Q97 e e iy SEsw am s dR i mAm gman d s
S| 2""""2 dx &1 WH 71d Hifm) - 5
2x°+6X+5
Do all parts of the following :
a) Prove that a relation R={(a,b):(a=b} is a multiple of S } is an
equivalence relation in the set of integers Z. 5

b) If the matrices X+Y=[g g] and X-—Yn[g _61'] then find the

matrices X and Y. S
c) If y =(cot x)®"*+ x* then find %% S
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d)  Find such two positive numbers whosc sum is 15 and sum of thleié

squares is minimum, -

. x+2 __dx. S
c) Find the value of_l'zx2+6x+5 :
frefafea vt @esl =) & Hifd
%) T x?+y?=a? A PR &7 F QA A FA 5

A A A A A
8 R fegal A B C s p ¥ fufy wRm W 1+jrk, 2i4s),
3142 -3k 3l 1-6j+k & A t@rsll AB T CD F o9 F F W

i) 5
) z=4x+y'waﬁwmmﬁﬁmﬁﬂ%ﬁéﬂmﬁﬁ%m.-

Eﬂ?f?ﬁﬁm: S

x+Yy<s50 -

3x+ys90

x20,y20. '5
W) T U@ W S R IO T R She §E HEHI H1 A 6 TR | FEA

4 % gAan T 4R ¥ B 6 Ayfey mifwa ww i) 5
) mmxg—z+2y=x2;(x¢0)mmgamﬁml 5

Do all the parts of the fetlowing :
a) Find the area:ef'the circle x? + y? = a? surrounded by it. 5
b) If the positien vectors of the points A, B, Cand D arc successively

A

Fa A A M A Fat A
?+}+k- 2?4'5_}', 3i+2j-3k and i-6j+k then find the angle

between the lines AB and CD. 5
¢) Find ‘the ‘maximum value of Z=4x+y under the following

constraints by graphical method :

x+yssS0

3x+y<90

x20, yz0. 5

d) A dic is thrown two times. It is found that the sum of appeared
numbers is 6. Find the conditional probability that the number

4 appeared at least one time, S
e Find the general solution of the (differential equation
dy = x2: (x#0). 5
x'a-; + 2y =X, [ ]
14000/ 1447

Download all NOTES and PAPERS at StudentSuvidha.com



http://studentsuvidha.com/
http://studentsuvidha.com/

7 324(FD)
7. Prefafes 4 el o @ve 9w it
%) Wﬁﬁmmm%ﬁmﬁﬁmiﬁm: 8
3x-2y+3z=8
2x+Yy—-z=1
4x-3y+2z=4,
3 1

1
Q) wﬁﬁm[lss g g}%?hﬂ ! 9 hifdmy 8

7. Do any one part of the following :
a) Solve the following system of equations by using matrix method : 8

3x-2y+3z=8
2x+y—-z=1
4x-3y+2z=4.

3 11 .
b) IfA=[15 6 5| then find A~!. . 8
5 2 2 *

8. Frfufad § 3 fredt v wve %) 7er Hifvre -
®) i) pwmmaﬁﬁamﬁamlgx=7y‘l4=z"3@_
o

2p 2

T7-7x _Y=-506-2
3p S

11] . ﬁm&%[zi_lﬁlll{ll-as_slwlal_q'r_‘*}m
g % i &
3

@ Q@R 3R, R o g TR AR Red ahe adhem
freraq € - ' 8

- J.: ..3 ,c} ,\ A - .ﬁ A A A A A
r=i+ A (20— j+k) I r=2i+j-k+pu(3i-5j+2k).

TR o 8

S

Do any one part of the following :

a) j) Find the valug of p such that the lines I;x = 732;14 = 5_5_5_3.
and 1=7x _Y=S_6-z .. mutually perpendicular. 5
3p 1 )
ii)  Show that the points ( 2, - 1, 1 ), ( 1, = 3, - 5) and
(3, - 4, - 4) are the vertices of a right angled triangle. 3
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. i . . c
b)  Find the shortest distance between two lines {, and 1, WhoS

. 3 A A AN A
vector cquations are r =i+ j+A (2i— j+k) and,

- A A A A A
r=2i+j-k+p(37-57+2k).
9. frmfeiaa § @ et v wvg w) ga Hifr

2
%) wima [ XA g o am g AR
(x+2)(x+1)

b1

@) | XX gy o Ae aw R
o 1+cos“x

9. Do any one part of the following :

2
x“+x+1 dx.

a) Find the value of the integral I{ 2002 +1)
x + 2){x

T .
snx

2

b) Find the value of
0 14+ cos“x
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